8 6 v Eu.lucbatlo.u tha Variance

DQF— I{ X [ dewsity 1( -{(Mw s ex.r_ziztut Ll\-w-

Cov et&oﬁwﬁl‘oh W avevase velwe e Mhaar ) s Givew

by E(X)= ra x FOOdn

- o
—— " wa;JHuL L3 PV\,L_ "
C e prssil le

X v..lu.a;u

Oo
Mav-a ﬁﬂ.hl)""“], E[_ﬂ(x)] = :[ j(‘-l‘Féx_)Jx_.

F“" e““""‘?“’ ELXL]: S~ x> ‘F(")Jd’/ So Wwe Can define

V(E) = E[X*]-E[ERT Lk in ih die con

E_x;a.i\,\z fvrrw&/ X e thsn“fj '{1():] = {1” o<xel

° o‘",uwiu .

Fwg EL3x+4) oaud V(-2X15).

EET= [ koo = [ 2t = 27

&)

L

wi

¢, E[3X+4) =2E[X)+4 = 3(F)4 -6

E[_Z L] = JN xl'f(x)ix = j‘ Z)L;oe‘t-

fl
fa
£
—
1
N

. VE)=E-@P-t-t-a-2d

and  V(-2Xt8) =4V (X)= £-

|



Gwtinwous  random

Di{. L4,t Q,Lsm sucl et ach. A

veroble X e e wnifun Kistribitin o (ab) A b
L ac ¢k

Abmsﬂ-j ‘f(x.) = b-o ‘—i*
o ﬂ(«ww;s«.

Stotlond : X ~Uaf (at)

Le X ~Uaflet). Fud E[Z)

Evemgle

L
ELX] = F*{é»u: =f x - 1‘\_—% ez
. L
ol -'z"L
= o)
L
2

-2
f[l) = ZC > asSvo

E’-xouw.‘;\& fhwow X b alusi*j

o

F.a ELXD.
cixl= j xf () dn
= cax
= . 2xe  dx int. by pacts: judu= wo - |
L . w= 2x dv = _zzlw
= ‘E:” L 2xe 01* du= 26z v='s’
v 5
= LM (’x@jb" + J &—zx&»)
b= o 4 °
b
. -2b —25
= J:-; (—Lez - f_& L )
C b (LeM-tetat)

-

i
2



Problem 1. Suppose X is a continuous random variable with density
¢ —2<z<5
z) =
) {0 otherwise.
a. Draw a graph of f and find c.

b. Give the name of the distribution of X.

c. Find E[X] and V(X).

s
a RN S _ -
© = [ ede=7¢ > c=%
—I——‘— -2
- <
® uw;{—[-l.cj
5 s
S —245 Cry2] = s Lgn = L 3/ o
® ([R)= =15 ELX?] _J:_" 7 Tl =L (st )
- 133
21
133 2 49
= Z-(Us) = L
¢ ViX) Y] ( 2
Problem 2. Suppose X is a continuous random variable with density
f(z):{j:”"’” e
a. Draw a graph of f.
b. Find E[X] and V(X).
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Problem 3. Let X denote the weekly CPU time used by an accounting firm (measured in hours),
and suppose X has pdf given by

Sr(d—z) 0<z<4
—) <z<
@) { 0 otherwise.

®

. Draw a graph of f.
Find E[X] and V(X).
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The CPU time costs the firm 200 dollars an hour, plus a fixed base cost of 50 dollars per
week. Let C' denote the total cost in a given week. Find E[C] and V/(C).
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